
	
Dusty Wilson 

Math 085 (no calculators)
No work = no credit
	Name: ________________________________

When we ask advice, we are usually looking for an accomplice. 
Joseph-Louis Lagrange (1736 - 1813) 
Italian or French mathematician
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1 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Fill in the missing numerator that makes the fractions equivalent: 
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Solution: 
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2 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Circle the fraction that is equivalent to 
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3 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Find the greatest common factor (GCF) of 24 and 60

GCF: ____________
4 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Simplify to lowest terms: 
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60


Solution: ____________
5 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) A pancake recipe calls for 
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 cups of mix.  Write 
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 as an improper fraction.

Solution: ____________
6 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Rewrite the fractions 
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 and 
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 with their least common denominator (LCD), 30.
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	7 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (4 pts) Do the multiplication 
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.  Write the answer in lowest terms.
	8 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (4 pts) Do the division 
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.  Write the answer in lowest terms.

	
	

	Solution: ____________
	Solution: ____________


9 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Find the value of z in the equation: 
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Solution: ____________
10 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (4 pts) Find the least common denominator of the fractions 
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 and 
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LCD: ____________
11 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Choose the fraction with the least value: 
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 or 
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Solution: ____________

12 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Find: 
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42

77

-


Solution: ____________
13 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (4 pts) Find: 
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.  Write your answer in lowest terms.
Solution: ____________
14 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Combine the terms without an x and combine the terms with an x: 
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Solution: ____________
15 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Find 
[image: image27.wmf]23341

24877

æö

-¸-

ç÷

èø

.  Write your answer in lowest terms.
Solution: ____________
16 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Find 
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Solution: ____________
17 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Write five and twenty-nine thousandths as a decimal number.
Solution: ____________
18 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Arrange the following decimal numbers in order from greatest to least: 

0.09           0.89          0.91         0.009         0.9

	______
	
	______
	
	______
	
	______
	
	______

	greatest
	
	
	
	
	
	
	
	least


19 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Round 98.76543 to the nearest hundredth

Solution: ____________
20 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Write 0.36 as a fraction in lowest terms.

Solution: ____________
21 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Write 
[image: image29.wmf]16

50

 as a decimal number

Solution: ____________
22 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Do this addition: 
[image: image30.wmf]1.234.56.78
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Solution: ____________

	23 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (4 pts) Do this multiplication 
[image: image31.wmf]8.50.47
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	24 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Find the value of x in 
[image: image32.wmf]1.36.11
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	Solution: ____________
	Solution: ____________


25 MACROBUTTON MTPlaceRef \* MERGEFORMAT .)
 (2 pts) Use the order of operations to evaluate the expression: 
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Solution: ____________
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